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All Candidates' performance across questions

Question Title N Mean S D Max Mark F F Attempt %
1 2126 28.6 8.1 45 63.6 63.9
2 2070 26.4 8.8 45 58.7 62.2
3 1856 23.4 8 45 52 55.8
4 561 20.9 8.8 45 46.4 16.9
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Sticky Note
Usually the question number

Sticky Note
The number of candidates attempting that question


Sticky Note
The mean score is calculated by adding up the individual candidate scores and dividing by the total number of candidates. If all candidates perform well on a particular item, the mean score will be close to the maximum mark. Conversely, if candidates as a whole perform poorly on the item there will be a large difference between the mean score and the maximum mark. A simple comparison of the mean marks will identify those items that contribute significantly to the overall performance of the candidates.
However, because the maximum mark may not be the same for each item, a comparison of the means provides only a partial indication of candidate performance. Equal means does not necessarily imply equal performance. For questions with different maximum marks, the facility factor should be used to compare performance.


Sticky Note
The standard deviation measures the spread of the data about the mean score. The larger the standard deviation is, the more dispersed (or less consistent) the candidate performances are for that item. An increase in the standard deviation points to increased diversity amongst candidates, or to a more discriminating paper, as the marks are more dispersed about the centre. By contrast a decrease in the standard deviation would suggest more homogeneity amongst the candidates, or a less discriminating paper, as candidate marks are more clustered about the centre.


Sticky Note
This is the maximum mark for a particular question


Sticky Note
The facility factor for an item expresses the mean mark as a percentage of the maximum mark (Max. Mark) and is a measure of the accessibility of the item. If the mean mark obtained by candidates is close to the maximum mark, the facility factor will be close to 100 per cent and the item would be considered to be very accessible. If on the other hand the mean mark is low when compared with the maximum score, the facility factor will be small and the item considered less accessible to candidates.


Sticky Note
For each item the table shows the number (N) and percentage of candidates who attempted the question. When comparing items on this measure it is important to consider the order in which the items appear on the paper. If the total time available for a paper is limited, there is the possibility of some candidates running out of time. This may result in those items towards the end of the paper having a deflated figure on this measure. If the time allocated to the paper is not considered to be a significant factor, a low percentage may indicate issues of accessibility. Where candidates have a choice of question the statistics evidence candidate preferences, but will also be influenced by the teaching policy within centres.
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Answer two questions.

1. (a)	 Outline Aquinas’ version of the theory known as ‘Natural Law’. [30]

(b)	 ‘Natural Law’s absolutist approach to ethics promotes justice.’
Assess this view.	 [15]
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Sticky Note
A thorough understanding of the importance of the virtues within the theory shown here.

Sticky Note
Because this would help humans  to achieve eternal life with God in heaven ?

Sticky Note
A thorough  understanding shown of the concept of a primary precept. All the primary precepts are accurately listed. The link between primary and secondary precepts clearly understood here.

Sticky Note
Candidate clearly understands the 'goal' of Natural Law.

Sticky Note
Good use made here of supporting Biblical material  (although with some SPAG issues)

Sticky Note
The only main error in this response - a misunderstanding of 'efficient' and 'final causes'.

Sticky Note
based on the ability to reason ? This should be linked to opening sentence of the paragraph below.

Sticky Note
'Deon' comes from the Latin word for duty  - the duty to abide by fixed rules.

pearca
Sticky Note



Sticky Note
Good use of a scholarly quote. The candidate could develop this point further using reasoning or evidence here.

Sticky Note
The candidate immediately show they are addressing the question here.

The paragraph below could be combined with this one.

Sticky Note
A thorough answer in the time available.

Sticky Note
A thorough understanding of the different types of 'acts' and the principle of double effect shown here.  Effective use made of examples and references.

Sticky Note
Again a thorough understanding shown here of 'real' and 'apparent' goods.  The link made to the cardinal virtues  show the candidate has a holistic understanding of the theory.

Sticky Note
This essay is well organised and makes logical sense. Good use of paragraphing  



Sticky Note
A weak conclusion but overall a fairly thorough response in the time available.

Sticky Note
How ? Homosexuality is not what God intended ? Based on ?

Combine this point with the paragraph below.

Sticky Note
Good use of a scholarly reference.  The candidate could develop this by arguing that evolution suggests human nature is not fixed as Aquinas suggested.

Sticky Note
Good link made to other areas of study here. 

Sticky Note
How - develop this example ?

Sticky Note
This paragraph is unclear here. Is the candidate referring to the origins of Natural Law which were secular ? Secular does not mean it is based upon God.

Sticky Note
Why wouldn't the theory allow this ? Link this to one of the primary precepts.










Sticky Note
Clear knowledge and understanding shown here of real/apparent goods.

Another example used.

Sticky Note
Candidate demonstrates an understanding of the primary/secondary precepts by using an example.


Sticky Note
Response is organised into logical paragraphs. Lists the primary precepts.

Candidate could have added that the primary precepts are deduced by reason. 

Sticky Note
Some SPaG issues in opening paragraph , but generally a good introduction



Sticky Note
How does it provide clear guidelines ? Use evidence to explain this e.g. primary/secondary  precepts - "do not steal" comes from "live in an ordered society"

Sticky Note
Poor grammar here.

Sticky Note
Overall a fairly full answer in the time available.

Sticky Note
Weaker final paragraph - the four types of laws could be more clearly and accurately defined here. 

The candidate could also refer to the different types of precepts.

Sticky Note
Clear knowledge and understanding shown here of interior/exterior acts.

Another example used.




Sticky Note
More than one view with limited analysis.


Sticky Note
Poor grammar and very weak conclusion  - no supporting evidence.

Sticky Note
Again develop this point - how does Natural Law promote the right to self protection ?

Sticky Note
Why would this be wrong according to Natural Law ? Which precept(s) does it break ?


Sticky Note
Link this point to the idea of real/apparent goods and the idea that the ultimate purpose for humans is eternal life with God.









Sticky Note
An example could be briefly used here to demonstrate understanding. 

Sticky Note
Directly link a primary precept to a secondary one to demonstrate your understanding e.g. no abortion (secondary) upholds the primary precept "to reproduce."

Sticky Note
The primary precepts are absolute moral laws  and not just guideline as stated here.

Sticky Note
Relevance ?

Sticky Note
It is not based on the Bible,  but it does agree with some Christian teachings - which ones ?


Sticky Note
Based on humans ability to reason ?

Sticky Note
Definition ?



Sticky Note
Again where is the link to the question ?
Relevance here ?

Sticky Note
What does the candidate mean here ? It is not clear.

Sticky Note
If this valid point was developed, analysed and evaluated here it would have been a  relevant response. 

Sticky Note
Relevance to the question ? Unclear here.

Sticky Note
The candidate needs to clearly link their response to the question.  They haven't done that here. If this sentence was re-worded it could be used to address the question.

Sticky Note
A partially adequate treatment overall.


Sticky Note
No new material here just repetition of earlier  points. 

The candidate could also refer to the different types of laws. The ultimate goal for  all humans according to Aquinas was what ?

Sticky Note
The candidate could use a brief example here to demonstrate their understanding. These concepts could also be linked to the  cardinal and theological virtues 

Sticky Note
Poor explanation here of an 'apparent' good.  Use the WJEC glossary to make sure you understand key terms.



Sticky Note
Overall some brief attempt to address the question.



(1342-01)

2

Answer two questions.

2. (a)	 Outline Fletcher’s Situation Ethics. [30]

(b)	 ‘Situation Ethics works.’
Assess this view.	 [15]

© WJEC CBAC Ltd.











ap
An accurate definition of agape given here.


ap
A brief but accurate outline of why Fletcher regarded Situation Ethics as the 'middle way' also given here.



ap
Key terms such as relativistic, teleological and consequentialist are clearly explained in the opening paragraph along with the correct identification as Fletcher as the founder of Situation Ethics.



ap
The fourth fundamental principle given should start with "Love wills ...." but there is some understanding of the principle shown. 

ap
The third fundamental principle given here is quoted inaccurately, it should state "..decide situationally and not prescriptively." There is however an understanding of the principle shown. 

ap
The candidate demonstrates knowledge of the second fundamental principle but no understanding of it.


ap
Knowledge and understanding of the first fundamental principle shown here.


ap
Even in an 'outline' question a brief example could be used here.


ap
An accurate outline of three out of the four working principles has been given by the candidate. They have accurately identified the principle of 'positivism' but it is incorrectly defined (it is the principle that many candidates cannot correctly define). See WJEC glossary for further details.



ap
The candidate demonstrates knowledge of the fifth fundamental principle but no understanding of it.
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Answer two questions.

3. (a)	 Explain Bentham’s principle of utility. [30]

(b)	 ‘Utilitarianism is compatible with a religious approach to ethics.’
Assess this view.	 [15]
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Sticky Note
Is this a reference to Natural Law ? Does this sentence add to the response ?

Sticky Note
Clear understanding here of the Principle of Utility.


Sticky Note
A good opening paragraph which defines clearly terminology associated with the theory.



L6

Sticky Note
How does a Rule Utilitarian decide which rules to follow ?

Sticky Note
The candidate immediately attempts to address  the question by using an example.

Sticky Note
A fairly full answer in the time available.

Sticky Note
Another example given of how Utilitarianism works in reality.

Sticky Note
An important point made here - something Bentham believed passionately about.

Sticky Note
This term could be defined here.

Sticky Note
How ? They are in many ways completely opposed to each other.

Sticky Note
Clear understanding of some of the criteria shown here as well as giving  a basic example.

The candidate could have achieved a higher level if they showed they understood all seven criteria.

Sticky Note
You cannot define the criteria clearly by using the word it derives from. What does 'intense' mean ?

Sticky Note
Clear understanding shown here of the term 'hedone' and of the seven criteria of the calculus.



Sticky Note
A fairly full response  with some critical analysis.

Sticky Note
An example here would demonstrate this point. 


Sticky Note
Clearly link this point to the question - they are not compatible for this reason ?

Sticky Note
Did the candidate mean 'religious believers' here instead of Utilitarians ? This mistake has completely changed the meaning of the paragraph.

Sticky Note
How do Utilitarians make decisions then ? Develop this point

Sticky Note
Mill made this point not Bentham and Mill didn't use the hedonic calculus to predict an outcome.

Sticky Note
How is this relevant ? Develop this point e.g. by acting in a loving way would you make people happy ?

Sticky Note
Another good illustration given of how some denominations would hold similar views to those expressed by a Utilitarian.











Sticky Note
What were the seven criteria?  The trigger word in the question is 'explain'.

Sticky Note
Why is it called this?

Sticky Note
Define the term 'Act'  Utilitarianism here.

Sticky Note
For Bentham what was the greatest 'good' ? No reference to happiness here.



Sticky Note
Overall an outline answer.

Sticky Note
Why ?  what is it based on ? Why is this so different ?

Sticky Note
What is Strong Utlitarianism? Which rules might it uphold that might be compatible with a religious approach to ethics ?

Sticky Note
Where is the supporting evidence for the  assertion ?

Sticky Note
The point here is not really clearly expressed and therefore doesn't really add anything to their answer.

Sticky Note
Not all Quakers follow this view. Those who do tend to follow Situation Ethics which does take the situation into account but aims for the most loving outcome.

Sticky Note
Again grammatical errors in the opening line. 

Sticky Note
If the candidate had quickly  planned their essay there would be no need for further addendum.   They would hopefully have also noticed that the  material they have now added  was actually either irrelevant  or erroneous.

Sticky Note
Provided their actions fulfill the  Principle of Utility ?

Sticky Note
What is the Principle of Utility ? 



Sticky Note
An attempt has been made to construct an argument partially supported by some reasoning and/or evidence.

Sticky Note
Again how is this the case ?

The candidate needs to develop, analyse and evaluate the points they are making.

Sticky Note
How and on what basis ? 

Sticky Note
Why might they disagree ? Provide reasons or evidence to support this point.

Sticky Note
This information does not address the question.



Sticky Note
This is not the principle of double effect and even if it was it is not relevant here.









Sticky Note
Of what ?

Sticky Note
Duration in terms of time of the happiness created?

Sticky Note
Explain the seven criteria here. Good candidates demonstrated their knowledge and understanding of the Hedonic Calculus by using an example or examples.

Sticky Note
Why was it called the Hedonic Calculus ?

Sticky Note
Explain the term 'Act' Utilitarianism.

Sticky Note
Define this term correctly. See WJEC glossary. Other terms that could be used/defined  here include  'teleological' and 'consequentialist.' 



Sticky Note
Develop and explain why a religious absolutist and a relativist might have differing views on how to perform a 'good' act.

Sticky Note
This is relevant but should be with  the paragraph above. 

Sticky Note
How ? Reasoning /evidence ?

Sticky Note
An outline answer - knowledge and understanding are limited.

Sticky Note
What are the desirable consequences or outcomes for an Act Utilitarian ?



Sticky Note
How? Again no reasoning and/or evidence to support them.

No conclusion made here.

Sticky Note
New paragraph ?

Sticky Note
Several points made here,  but with no reasoning  and/or evidence to support them.

Sticky Note
Develop this point, it lacks evidence and/or  reasoning.
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GCE RELIGIOUS STUDIES 


 
RS1/2 - AN INTRODUCTION TO RELIGION AND ETHICS 


 
MARK SCHEME - SUMMER 2014 


 
 
Q.1 (a) Outline Aquinas’ version of the theory known as ‘Natural Law’  
    [A01 30] 
 
  Candidates are likely to include some or all of the following, but other 


relevant points will be credited 
 
  For Aquinas the highest good is rational understanding / following God’s final 


purpose. God created everything for and with a purpose. He believed in 
absolute morality - clearly defined and universally applied moral rules; not 
consequentialist. Aquinas identified four levels of law - eternal, divine, natural 
and human. The purpose of human life is outline in the five primary precepts 
which are developed in the secondary precepts. The communal nature of 
human life just as important as freedom / dignity of individual. He outlined 
three revealed virtues (faith, hope and charity), four cardinal virtues 
(prudence, justice, fortitude and temperance), which help humans get closer 
to our ideal human nature. He also identified differences between interior / 
exterior acts and real / apparent goods. 


 
 (b) ‘Natural Law’s absolutist approach to ethics promotes justice.’ 
  Assess this view.  [A02 15] 
 
  Candidates are likely to include some or all of the following, but other 


relevant points will be credited 
 
  Agree. 
 


 It promotes justice by providing humans with a set of rules which they 
should live by and promotes a sense of community. It provides clear rules 
for people to live by, there are no ‘grey’ areas. 


 It promotes universal and eternal laws: so humans know whatever century 
they live in, or no matter where they live, what is acceptable and what is 
not. 


 It promotes justice by advocating basic human rights such as the right to 
life, the right to education and the right to live in an ordered society. 


 It promotes justice as it recognises that God punishes those who do 
wrong. 


 
  Disagree. 
 


 It fails to consider the personal situation a person finds themselves in. 


 It does not consider the consequences of an action, which could cause 
pain to others. 


 It does not recognise that some acts e.g. sex can have more than one 
purpose as a result discriminates against those who perform an act 
without fulfilling its purpose e.g. homosexuals. 


 It is too prescriptive and leaves no room for personal choice. 
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Q.2 (a) Outline Fletcher’s Situation Ethics.  [A01 30] 
 
  Candidates are likely to include some or all of the following, but other 


relevant points will be credited 
 
  Situation Ethics is a relativistic, teleological and consequentialist theory. It is 


based on a single principle of agape, self sacrificial love. Loving actions are 
determined by individual circumstances and it rejects both legalistic rules and 
antinomianism but follows a ‘middle way’ between the two. It consists of four 
working principles - pragmatism, relativism, positivism, personalism and six 
fundamental principles - love alone is good, love is the only norm, love and 
justice are the same, love wills the good of others regardless of feeling, loving 
end justifies the means and decide situationally not prescriptively. 


 
 (b) ‘Situation Ethics works.’ 
  Agree and disagree. [A02 15] 
 
  Agree 
 


 People consider the likely consequences of their actions before they take 
them and it is only the consequences that have a real effect on human 
well-being. 


 Situation Ethics allows people the individual freedom to make decisions 
for themselves which many people nowadays prefer to the prescriptive / 
legalistic approach. 


 Situation Ethics as a relativistic theory is flexible and practical. It takes into 
account the complexities of human life (the situation) and can take tough 
decisions where, from a legalistic perspective all actions seem wrong. 


 As a teleological theory, Situation Ethics allows one to perform certain 
actions which other regards as being wrong for the better outcome, for 
example lying to save a person’s life. 


 
  Disagree 
 


 People cannot accurately predict the consequences of their actions. 


 Some people prefer to have greater guidance / a set of rules to live by. 


 Many religious believers would claim that the moral standards within 
society have declined since people have rejected religious principles in 
favour of Situation Ethics’ relativistic approach. Some people would argue 
that certain actions are ‘right’ or ‘wrong’ in themselves and you cannot use 
relativism or consequentialism to argue against this. Some Christians 
would, for example, say that the Ten Commandments teach us that 
‘murder is always wrong’ 


 Relativism gives too much freedom to the individual to decide what action 
to take. Humans are prone to making mistakes or being influenced by 
personal gain rather than love. 
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Q.3 (a) Explain Bentham’s ‘Principle of Utility.’  [A01 30] 
 
  Candidates are likely to include some or all of the following, but other 


relevant points will be credited 
 
  The ‘Principle of Utility’ or ‘usefulness’ states you aim to achieve “the greatest 


happiness for the greatest number”. The emphasis is on consequences of an 
act and not simply on the act itself. Bentham used the Hedonic calculus to 
measure pleasure, it contains seven criteria - Intensity, Duration, Certainty, 
Extent, Richness, Remoteness and Purity. You use the Hedonic calculus to 
measure the pleasure / pain produced in these areas. Bentham was 
concerned with the quantity of the pleasure produced, but not the quality. 


 
 (b) ‘Utilitarianism is compatible with a religious approach to ethics.’ 
  Assess this view.  [A02 15] 
 
  Candidates are likely to include some or all of the following, but other 


relevant points will be credited 
 
  Agree 
 
  Utilitarianism encourages people not to be selfish and Mill believed that his 


utilitarianism ethic had caught the very spirit of the Christian Golden Rule (to 
treat others as we would want them to treat us) which is also prevalent in 
other religions. Religious believers keep rules such as “do not steal” and 
strong rule Utilitarians would also keep this rule because it would fulfil the 
principle of utility. A Utilitarian would claim the ultimate goal is happiness; 
some may claim that religion is based upon making people happy e.g. the 
concept of enlightenment in Buddhism. 


 
  Disagree 
 
  Religious believers would not accept that under Act Utilitarianism a minority 


might suffer for the happiness of the majority; it rejects moral absolutes such 
as “do not kill” - rules given by God but prefers to consider the consequences 
of an action; it does not consider the fact that people should make themselves 
and God happy by following God’s will / teachings; it rejects God as the 
ultimate source of authority; some religious believers would say that through 
experiencing “pain” and suffering (which Utilitarians aim to avoid) people 
become better human beings; people can also identify with the pain and 
suffering of others (e.g. Jesus). 
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